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Geometric Sequences and Series
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6. “What is the difference between a sequence and a series? AI 5@{%@,&( e = A | i$+
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7. Does the geometric series 2 + — 3 o+~ 5 +... converge? If it converges find the sum. iwcome
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8. Show that the repeating decimal 6.9999999,.. . equals 1. . . i3
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9, Inltlally, a pendulum swings through an arc of 18 inches. On each successive swing, the length of
the arc is 0.98 of the previous length.
A What is the length of the arc of the 10" swing?
B. On which swing is the length of the arc first less than 12 inches?
C. After 15 swings, what is the total distance the pendulum has swung?
D. When it stops, what total distance will the pendulum have swung?
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